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8 C Regisier No,
S Rovislon Test - 2025
me 1 330 Heury MATHEMATICS Marks : 100
. Choose the best answer Suiwj
1 The number which is subiracied from 8 o gal . in ‘
M o =142 " 142 ¢
" 5% b 5 “ o0 N 25
2 The product of 7p* and (2p*)* i o
a) 14pt by 28p c) bp' '
3. 1% ol 28% of 10000 = .. ........., o nie
(ay37s b} 400
c)d425
4 Two similar inangles wil always have ..., . . . angloea po
a) ncute b} obtuse '
3. Datals a collectionaf ... ... ey @“} e
| @) umbers b) words C) mansuremants d) all the throe

I Fill in the blanks

6 The ones digit in tha square of TT is 1 —
7. lmanequaliona+b=23 Tha value of & is 14 then the value of b |s l

g_ A fruit vendor sells frults for ¥200 gaining T40, His gain percentage ls .2 5.7 -

- Inclusive sones Is a ....... sarigg. 4.5 cirb ~liea

. Match the following: Sx1=5
10. Area of the seclor of a crele - X=4 It )

11. Perimeler of a semicircle . 5252% =

12. 05252 - “circular graph 5

13, 20=6x-4 : gm il B

360 xnr® sq. units |
14 Pwe-chart = (=*2)r units 2
- [+2r units =

V. Say true or false; Sxi=5

15 O is the smalles! rational numbser

16 The linear equation in ane variable has one solution, -

17. In any triangle the cenlroid and the incenire are located ins«de Lthe diagram 5
18 Distance and bme follow Direct Proportion. « .
19. The eleventh number of Fibonaccl number is 77, -+

:. Answaer the !nlluwlngg [Il"lf T:I;IL:;_J . T4 10x2=20

0. Find the sum of 5t © as - 35

21. Evaluate ( 3|2 —21% : £ —
( E] EX Ry a®ir ta moi o feglesr =¥ i

22. |s 108 a perfect square numbsar, =
24 Expand (x+3)(x+5)(x+2) = 1 -Hox 4312 4 30 o B-F B2-WAT T
25 Factonise: 49x7 - B4y (T3 4 Pu) (7 —EyD) 0\ L =
26 Wi=dpq', b=-3p'qh = 2p'g"then, findthe value of Ixbxh. _24 P o
27 x% of 600 is 450, hen find the valusalx ¥ = 75 :

28 Akita scored B0% of marks in an examinaiion. I the scora was 578 marka, then find the maximum

marks of the examinatlo

23. The radius of a Sector is 16cm and its central angle is dﬁ'ragﬁnd the length of tha are. ™ 13
iZ

I
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I welling an arbcie tor ® B20 caunes o 10% loss on thin Salllng Price, than Rnd it copl price b h¥=
Can i nght-angied tiuingin have saiag thal measurs Bem 12cm, and 13em? F'l!- _ f v,
%

IV 48 man working T hours o day cun do o work In 24 lj.wl thasn In I"‘,uﬂ m.n-qr n‘u | .mll :.H] maen
working B hours a day complaln tha same work? =16, 1, - 4 ol - :

Hapmsant (he following data in an ungrouped fraquoncy tnbla which gvas he numhﬂ, nl' chddran
in25familles 1,3, 0 5 2 3,2.4,1,0, 0,4,3,1,3,25121.1,2.8 2,1, 4

Using tha repaated dovision methad, find the HCF of 5 snd 12, cp g VI T
Answer any 9 questions: -

Amrange the Iellm-u.mr; ratanal numbers In n:nr-dlnu and doscending ordor. — LU 0 TE

T. ‘nl E B ] ¥ E.u
simplity (1) X (20w (10) |'

A rochpl dmwlnq I'un tha measures na given n thes : [:‘."'
Fipurs Firvd I8 amen 1 y 1 i_’;)
Expand (1) {x+4)* (i) Find tho value of (103 | |

Factonse In"-45x%y » 225y - 75y e

The denominator of a fraction is 3 more than s numeeaior I 2 I added 10 the numeraior and 3
i3 adided to the denominator, the fraction becomes % Find the ariginal fraction.

A Principal bocomes T 2028 in 2 years al 4% p.a Compound inlarast Find the princpal
The ratio of boys and girls in & clnss s 5:3 # 16% of boys and 8% of girls falled in gn examinalon
then find tha percentage of Passed Studants,

A survey gives tha followsng information of food ilems Praferred by peapla Draw a pe chan

fems Veqelables | Meat | Salad | Frufls | Sprouts | Bread
Mo of Paopla 160 50 B 50 30 40
Find LM, MN, LN and also the area of ALON, LD =13cm, MO = 12cm, NO = 15cm
L : "
12
1 1%
o

A can do a work in 45 days. He works at @ lor 15 days and then, B alona finighas the remaining

work in 24 days. Find the ime taken lo completa BD% of tha work f they work logether
Using repoaled sublraction method, find the HCF of 320, 120 and 95,

Answer any 2 quastions, 2xB=18
Construct a quadrilateral DEAR with DE = Bem, EA = Scm, AR = 55cm, RD = 5 2em and DA =
10cm
(OR]
Construct o parallelogram ARTS with AR = 6cm, RT = Som and ZART = TD®
Piot tha followng pomts on graph sheol;
A(5.2). B(-T-3.C(-24), D(-1-1}, E (0.-5), F (2.0} G (7.4) H (4,0}
(OR}
Graph tha equation y = 2x+5.
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